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1. Who among the following directed the award winning film "Tare Zamecen

Par"?
(1) Madhur Bhandarkar (2) Sanjay Leela Bhansali
(3) Ajay Devgan (4) Amir Khan
2. Who sang the song "Dil Jalata Hai, to Jalane De ............ 7
(1) Kundan Lal Sehgal (2) Mukesh
(3) Mohammad Rafi (4) Lata Mangeskar

3. Who was the heroine of first movie Raja Harishchandra ?
(1) Anna Salunke (2) Gori Banerji

(3) RaviDe (4) Reema Dayal

L]

4. Which of the following countries has offered its help to India in its project of
developing and production of "Kaveri Aircraft Engine" ?

(1) USA (2) France

(3) Russia (4) Japan

5. Who amongst the following was the Chairman of the Second Administrative
Reforms Commission ?

(1) Veerappa Moily (2) Natwar Singh

(3) C.B.Bhave (4) M.S.Gill

(2)
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Which of the following companies of Indian origin has become the First Indian
Company to launch financial services to retail investors in China ?

(1) Bajaj Finance (2) SBI Capital Markets

(3) Reliance Group (4) GE Countrywide

As reported in the major financial newspapers, the Federal Reserve has made
certain changes/corrections in its base federal fund rates. This act of the Federal
Reserve will bring an effect directly and immediately on the banks located in:

(1) Russia (2) USA

(3) Japan (4) China

Which of the following stock exchanges has decided to pick up 5% stake in
Multi Commodity Exchange of India ?

(1) New York Stock Exchange (2) London Stock Exchange

(3) Tokyo Stock Exchange (4) Beijing Stock Exchange

Which of the following countries has the largest cheques trunction
in Asia ?

(1) China (2) India

(3) Sri Lanka ~ (4) Myanmar

Which of the following is the name of asset reconstruction company created by
various banks in India ? '

(1) AMFI (2) ARCIL

(3) SEBI (4) HCR

(3) P.T.O.
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11. The followings are all mobile computing devices, except :
(1) Notebook computers (2) Cellular telephones

(3) Digital scanners (4) Personal digital assistants

12. Servers are computers that provide resources to other computers
connected to a :

(1) Mainframe (2) Network

(3) Supercomputer . - (4) Client

13. Personal logs or journals entries posted on the web are known as :
(1) Listservs (2) Webcasts

(3) Blogs (4) Subject directories

14. Which of the following is not a type of Broadband Internet Connection ?
(1) Cable | (2) DSL

(3) Dial-up (4) Satellite

15. The internet is :
(1) A large network of networks
(2) An internal communication system for a business

(3) A communication system for the Indian Govt.

(4) All of them

(4)
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16. Which of the following would most likely not be a symptom of a virus ?

17.

18.

19.

(1) Existing program files and icons disappear
(2) CD-ROM stops functioning
(3) Web browser opens to an unusual homepage

(4) Odd messages or images are displayed on

W2M s :

(1) India’s proposed Mission to Jupiter

(2) First satellite by ISRO for a foreign customer
(3) European Union's Mission to Space

(4) None

The girl of Assamese origin after whom an Asteroid has recently been
named is : '

(1) Veena Das (2) Pritika Kalra Gandhi

(3) Nandini Sarma - (4) Inderjit Kaur

Romila Thapar has been awarded :

(1) 2009 Golden Pen of Freedom Prize
(2) 2008 Kluge Prize

(3) National Sahitya Academy Award
(4) National Woman Excellence Award

(5) P.T.O.
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20. United Nations Talks on climate recently held in :
(1) London (2) Pozanam

(3) Paris (4) New York

21. Which of the following states recently decided to celebrate Forest &
Environment Day every month ?

(1) Uttar Pradesh (2) Madhya Pradesh
(3) Uttarakhand - (4) Kerala

22. What does PTI stands for ?
(1) Press Treat of India (2) Press Trust of India

(3) People Trust of India (4) Press Treatment of India

23. Surya Shekhar Ganguly is a player of :
(1) Chess (2) Cricket
3) Goli (4) None

24. Army Day is observed on:
(1) 16th January (2) 15th January
(3) 17th January (4) 20th January

25. Who amongst the following is the author of the book “To a Hunger Free

World™ ?
(1) Amartya Sen (2) Manmohan Singh
(3) Sonia Gandhi (4) M.S.Swaminathan

(6)



26.

27.

28.

31.
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- The Govt. of India has launched an Integrated Disease Surveiliance Project

(IDSP) to monitor certain diseases. Which of the following is not covered under

the project ? ‘
(1) Malaria (2) Polio .,
(3) Plague (4) Cancer

R. K. Karanjia was the editor of :
(1) Indian Express (2) Blitz
(3) Hindustan Times (4) Times of India

India’s first Defence University was set up in :
(1) Uttar Pradesh (2) Madhya Pradesh
(3) Punjab (4) Haryana

The man who has been named Asia's Best Hockey player is :

(1) M. H. Atif (2) Dhanraj Pillai

(3) Rehan Butt (4) None

Which of the following publications won the six Pulitzer Prizes in various
categories ?

(1) Times of India (2) Washington Post

(3) New York Times (4) Hindustan Times

"Swayamsidha” is a scheme launched by the Govt. of India to help :

(1) School Children (2) Health Workers
(3) Women ' (4) Senior Citizens

(7)

P.T.O.
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32. Indiscreet is related to Imprudent in the same way as Indisposed is
related to ......... F

(1) Concerned (2) Crucial

(3) Clear (4) Reluctant

33. Estonia is related to Rouble in the same way as Chile is related to ........ [ -
(1) Dinar (2) Peso
(3) Peseta (4) Franc

34. Black Soil is not very suitable for the growth of :
(1) Cotton _ (2) Wheat
(3) Ground Nut (4) Potato

35. Who amongst the following has written the book “The City of Joy” ?
(1) Dominique Lapierre (2) Guentar Grass
(3) Ingram Smith (4) V. Harrison

36. Naiyer Masud whose name was in news recently is a famous :
(1) Politician (2) Social Worker

(3) Author (4) Journalist

37. Who amongst the following Indians has featured in the list of “"World's 100
most influential women", selected by the "Time" magazine ?

(1) Jaya Bachchan (2) Sushma Swaraj
(3) Pratibha Patil (4) Sonia Gandhi

(8)



38.

39.

41.

42.

43.

Who amongst the following has written the book “Sandy Storms” ?
(1) Sachin Tendulkar (2) Rahul Dravid

(3) Kapil Dev (4) Sandeep Patil

Which of the following countries has launched "Amos-3" satellite ?
(1) China (2) Canada

(3) Israel (4) India

Who laid out the first Mughal Garden in India ?
(1) Akbar . (2) Babur

(3) Shahjahan (4) Sher Shah

Gagan Narang whose name was in news recently is famous :
(1) Cricketer (2) Footballer

(3) Badminton Player (4) Air Rifle Shooter

Blindness is caused by deficiency of :
(1) Vitamin A (2) Vitamin B

(3) Vitamin C (4) Vitamin D

14P/224/2

The test cricket match in which Rahul Dravid completed his 10,000 runs, was

played against :
(1) Pakistan (2) South Africa
(3) Australia (4) England

(9)

P.T.O.
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44.

45.

46.

47.

48

49.

Which of the following terms is associated with the game 'Golf' ?
(1) Revoke (2) Scratch
(3) Bogey (4) Volley

Which of the following films was given the award of the ‘Best Motion Picture of
the year' by Oscar Foundation ?

(1) There will be Blood (2) No Country for Old Man
(3) Elizabeth ‘ (4) None

The first Five Year Plan in India was launched in the year :

(1) 1948 (2) 1949
(3) 1950 (4) 1951
Neck is related to Tie in the same way as Waist is related to ........ 2
(1) Watch (2) Belt
(3) Ribbon (4) Shirt

Which word is least like the other words in the group ?
(1) Curd (2) Butter

('3) Oil (4) Cheese

TISCO is situated near which of the following ?
(1) Patna (2) Darbhanga
(3) Dhanbad (4) Tatanagar

(10)
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51.

52.

53.

54.
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Which word is least like the other words in the group ?
(1) Rose (2) Lotus

(3) Marigold (4) Lily

Which of the following is a rational number ?

(1) V3 @) «

4 0
S @ 7

The product of two irrational numbers :
(1) may be a rational number (2) is always a rational number

(3) is always irrational number (4) is never a rational number

The decimal representation of % is

(1) 0.296 (2) 0.296

(3) 296 (4) 0.296

How many millions is equal to one crore ?
(1) 100 (2 1
(3) 10 (4) 1,000

(11) P.T.O.
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55. What is the rationalising factor of (a+vb ) ?
(1) a?-b (2) b-ab?
(3) a+b? (@) a’+b
56. [-23-(-27) + {-22 - (40)} ] =?

(1) 24 (2) 22

(3) 27 (4) 29

57. 26x10x723-260x260-13x63x20="?

(1) 1,04,000 (2) 1,06,000
(3) 1,08,000 (4) 1,02,000
%8 3-[lof4-(3+l)x13 -2
4 (2 5 15 7
-13 5
1) — =z
(1) 20 (2) 5
7 13
3) — 4) —
3) 5 (4) 20

59. 2+43 2-V3

2—J§+2+J§_ '
(1) 14 (2) 12
(3) 13 4) 11

(12)
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62.

63.
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6, V6 __ 43 _,
23-J6 3+42 J6-v2

(1) 10 2 0

Q)5 : 4 6

If p% of 36 = 4, then the value of pis :

(1) 9 (2) 144
1 1
(3) r (4) “3

The population of a town in 2001 was 18,00000 and in 2002 was 21,00000. Find
the increase per cent : '

2 ‘ | 3

1) 16=% 2) 16=%
(1) 163 2) 165

2 3
3) 17=% 4) 17=%
(3) 173 @) 172

A shop reduces all its prices by 20%. What is the net price of a cycle which
originally costs Rs. 1750 ?

(1) Rs. 1400 (2) Rs. 1500
(3) Rs. 1600 (4) Rs. 1700

Vivek gets 60 marks and fails by 20 marks in an English where the maximum
marks are 200. Find the pass percentage :

(1) 20% (2) 40%
(3) 60% (4) 80%

(13) P.T.O.
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65.

67.

69.

Find the number whose 6% is 24 :
(1) 300 ' (2) 400
(3) 500 ' (4) 600

The area of a rectangular hexagon inscribed in a circle of radius 5 cm is :

(1) 64.95cm?2 (2) 6485 cm?

(3) 51.54 cm? (4) 64.25 cm?

Savitri had to make a model of a cylindrical Kaleidoscope for her science
project. She wanted to use the chart paper to make her curved surface

of the Kaleidoscope. What would be the area of chart paper required by her,
if she wanted to make a Kaleidoscope of length 25 ¢cm with a 3.5 cm

22
dius? {n=—|:
radiu (1‘: 7)

(1) 550 cm? (2) 6.50 cm?

(3) 750 cm? (4) 850 cm?

In"a hot water eating system, there is a cylindrical pipe of length 28 meter and
diameter 5 cm. Find the total radiating surface in the system :

(1) 4.4m?2 ) 4.5m?

(3) 4.6m? (4) 4.7 m2

Find the lateral or curved surface area of a closed cylindrical petrol storage
tank, i.e., 4.2 meter in diameter and 4.5 meter high :

(1) 59.4 m2 (2) 58.4 m2
(3) 57.4m2, (4) 56.4 m2

(14)
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70.  Express as Vulgar fraction in the lowest form 0.8828125 :

71.

72.

73.

74,

75.

113 - 110
1) — v
@ 128 (2) 128
115 122
3) — 244
) 128 _ @) 128
A L.C.M.of1.7,0.51 and 0.153 is :
(1) 15.3 (2) 1.53
(3) 153 (4) 0.153
What decimal value of an hour is 1 second ?
(1) 0.00028 (2) 0.00029
(3) 000030 (4) 0.00031

If Veena's mother is Anil's mother's daughter, how is Anil related to Veena ?
(1) Brother-in-law (2) Brother
(3) Maternal Uncle (4) Nephew

A couple has four children and each one of them have three children. How
many members are there in the family ?

117 2) 19
(3) 18 (4) 20

Rosey is Jagdish's sister. Meena is Jagdish's mother. Devilal is Meena's father.
Lalita is Devilal's mother. How is Rosey related to Lalita ?

(1) Daughter (2) Grand mother _
(3) Grand daughter (4) Great grand daughter

(15) . | P.T.0.
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76.

78.

79.

Reena is Jeevan's sister. Madhuri is Jeevan's mother. Dilip is Madhuri's father.
Laxami is Dilip's mother. How is Reena related to Laxami ?

(1) Daughter - (2) Grand daughter

(3) Grand mother (4) Great grand daughter

A couple has five married sons and each one of them have four children.
How many members are there in the family ?

(1) 10 (2) 32
(3) 27 4) 41

Focussing a girl in the picture, Manoj said, "She is my grand mother’s only son’s
mother." How is the woman related to Manoj ?

(1) Daughter (2) Sister
(3) Grand Mother (4) Mother

If EDBERG is coded as JIGWL, then HINGIS will be coded as :
(1) MNTLNX (2) MNSLNX
(3) MNSLNW _ (4) MNSMNX

Directions for Q. Nos. 80 & 81 : In each of the following questions, various terms of a letter
series are given with one term missing as shown by (?). Choose the missing term out of the
given alternatives.

80.

UuoL? A
(1) E 2) C
(3) S 4) G

(16)



81.

82.

83.

85.

86.

A,B,D,G,?
(1) M @ L
(3) K () H

If MADAM is coded as SOLOS, how is CIVIC coded ?
(1) KAYAK (2) REFINED
(3) POLITE (4) URBANE

If 100 is coded as C, how is 1000 coded ?
(1) D ' (2) M
3) T | 4 P

14P/224/2

If RANGE is coded as 12345 and RANDOM as 123678, then MANGO will be

coded as :
(1) 82357 (2) 84563
(3) 82346 4) 82347

If RED is coded as VIH, what is the code for BALOON ?
(1) FEOSSR (2) EDORRG
(3) FEORRP : (4) FEPSSR

Which is the number that comes next in the following sequence ?
4, 6, 12, 14, 28, 30, (.......... )

(1) 32 (2) 60

(3) 62 (4) 64

(17)

P.T.O.
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87.

89.

91.

Find out the missing number in the following sequence :

1, 3,3,6,7,9 7 12, 21

(1) 10 2) 11

3) 12 (4) 13

If sand is called air, air is called plateau, plateau is called well, well is called island
and island is called sky, then from where will 2 woman draw water ?

(1) Well (2) Island

(3) Sky (4) Air

If clock is called television, television is called radio, radio is called oven, oven is
called grinder and grinder is called iron, in what will a lady bake ?

(1) Radio (2) Oven .

(3) Grinder . (4) Iron

Deepak said to Nitin, "That boy playing with the football is the younger of the
two brothers of the daughter of my father's wife.” How is the boy playing
football related to Deepak ?

(1) Son (2) Brother
(3) Cousin ’ (4) Nephew

Arun said, "This girl is the wife of the grandson of my mother.” Who is
Arun to the girl ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

(18)



92.

93.

94.

14P/224/2

If (1) P is taller than Q; (ii) R is shorter than P; (iii) S is taller than T but shorter
than Q, then who among them is the tallest ?

1 r 2 Q

3) S 4 T

Ashish is heavier than Govind. Mohit is lighter than Jack. Pawan is heavier
than Jack but lighter than Govind. Who among them is the heaviest ?

(1) Govind (2) Jack

(3) Pawan (4) Ashish

In a certain code, VIM is coded ADR, what will be the code for LAUNCH?
(1) QVZIHC (2) GFPSXM

3) QFZSHM (4) GVPIXC

Directions for Q. Nos. 95 to 97 : What will replace the question mark (?).

95.

76.89 - 63.05-11.11 = 2
(1) 2.63 (2) 22.92

(3) 2.73 (4) 24.95

95, 103, 96, 104, ?, 105
(1) 105 ) 102

3) 98 (4) 100 .

(19) ?.77.0.
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97. 888, 444, 222, 111, 55.5, 2
(1) 25.75 @) 27.75

(3) 28.75 (4) 26.75

Directions for Q. Nos. 98 to 100 : Choose the number which is different from others
in the group. .

98. (1) 12 ) 25
(3) 37 4) 49
99. (1) 8 (2) 64
(3) 125 (4) 28
100. (1) 21 | @) 36
3) 49 (4) 56

Direction for Q. Nos. 101 to 110 : Choose the correct spelling from the following :

101. (1) comeetee (2) committee
(3) commeettee (4) commith

102. (1) shephered (2) shepred
(3) shepherd (4) sephered

(20)



103.

104.

10S.

106.

107.

108.

109

110.

(1) gazette

(3) gezzate

(1) kerosine
(3) kerosien
(1) dicipline
(3) discipline

(1) reccomendation

(3) recomendation

(1) valitudinarian

(3) valetudinarian

(1) diarheia

(3) diarrhoea

(1) soleloquy

(3) soliloquy

(1) counsilling

(3) coundilling

14P/224/2

(2) gazzete

(4) gazatte

(2) kerosiene

(4) kerosene

(2) descipline

(4) desipline

(2) reccommendation

(4) recommendation

(2) valitudinarean

(4) veletudinarian

(2) diahrrea

(4) dierrhea

(2) soleloquey

(4) soliloquey

(2) counselling
(4) councelling

(21) P.T.0.
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Direction for Q. Nos. 111 to 120 : Choose the correct meaning of the following :

11.

112.

113.

114.

115.

116.

pizzazz :
(1) pigeons
(3) flair

mandatory :
(1) exemplary

(3) unique

horrendous :
(1) terrible

(3) cylindrical

efficacy :
(1) prudence

(3) propriety

digs :
(1) ditches
(3) lodgings

cranky :
(1) eccentric

(3) cunning

(22)

(2) victuals

(4) wvultures

(2) compulsory

(4) sequential

(2) hollow
(4) fatal

(2) importance

(4) effectiveness

(2) kennels

(4) waterfalls

(2) curious
(4) honest



117.

118.

119.

120.

paranormal :
(1) aboriginal

(3) supernatural

paramour :
(1) enemy

(3) relation

gratuitous :
(1) unnecessary

(3) beneficial

fraught :
(1) draught

(3) mixed

(2) attractive

(4) loving

(2) lover

(4) companion

(2) gracious

(4) merciful

(3) tense

(4) noisy

14P/224/2

Direction for Q. Nos. 121 to 130 : Choose the correct one word which is substituted by the
given words :

121. Murder of a king :

(1) patricide

(3) regicide

(23)

(2) homicide

(4) fratricide

P.T.O.
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122. One who can use either hand with ease :
(1) Ambidexterous (2) Hetrogeneous

(3) Homogeneous (4) Gregarious

123. Literary theft:
(1) Latinism (2) utilitarianism

(3) plagiarism ~ (4) totalitarianism

124. A lady's umbrella:
(1) pandemonium (2) parasol

(3) umfaan (4) umlaut

125. A word which is no longer in use :
(1) obsequies (2) obloquy

(3) absolute 23 (4) obsolete

126. A man who eats human flesh :
(1) gramanivorous (2) cannibal

(3) carnivorous (4) herbivorous

127. An absolute government by one man :

(1) democracy (2) bureaucracy

(3) technocracy (4) autocracy

(24)
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128. A remedy to counteract the effects of poison :
(1) antidote (2) antipyretic

(3) antibiotic _ (4) antiseptic

129. Actuated by greed of }noney :
(1) monetary (2) pecuniary

(3) mercenary (4) avaricious

130. A mind insensible to kind thoughts :
(1) callous (2) cunning

(3) crafty (4) deceitful
Direction for Q. Nos. 131 to 140 : Select the word opposite in meaning to the given word :

131. Nebulous:

(1) close (2) rude

(3) eloquent (4) distinct
132. Lax:

(1) verbose (2) rigid

(3) slender (4) vague
133. Incisive:

(1) prolix (2) terse

(3) cool . (4) obscure

(25) - P.T.O.
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134.

13S.

136.

137.

138.

139.

140.

Extant :
(1) wide
(3) defunct

Erotic:
(1) glib
(3) frigid

Doleful :
(1) supreme
(3) indifferent

Ostentation :
(1) obligation

(3) pretension

Nullify :
(1) conform
(3) confuse

Pushy :
(1) timid
(3) deserted

Grumpy :
(1) imaginary
(3) amiable

(26)

)
4)

(2
(4)

()
(4)

)
4)

)
4)

(2)
4)

()
4)

extensive
flat

polished

energetic

impetuous

jovial

humility

subjugation

release

clarify

thoughtless
liberated

virtuous

vulgar
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Direction for Q. Nos. 141 to 150 : The underlined part of the given sentence has an error.
Choose the correct option in each of the sentences to make them acceptable :

141.  Many a birds don't migrate from one place to another.

(1) Many a bird doesn't rru'gfate (2) Many a bird don't migrate

(3) Many bird don't migrate (4) Many birds doesn't migrate
142. He supplied secret informations tg the terrorists.

(1) secret informations with (2) secret information to

(3) secretive informations to (4) secret information with

143. No sooner did Sita step out of the cottage, Ravan kidnapped her.

(1) Ravan had kidnapped her (2) she was kidnapped by Ravan

(3) than Ravan kidnapped her (4) then Ravan kidnapped her

144. Walk slowly, lgs_t_xoy_MI

(1) least you will fall (2) lest you should fall

(3) lest you fall (4) lest you fell

145. The cashier and accountant have resigned.
(1) has resigned (2) had resigned
(3) resigned (4) have tendered resignation

(27) . P.T.O.
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146.

147.

148.

149.

150.

Either the teacher or the Principal are telling a lie.
(1) are telling lies (2) have told a lie

(3) had told a lie (4) istelling a lie

The carpenter is going to school to repair furniture.

(1) to school to repair furnitures (2) to school for repairing furniture

(3) to the school to repair furniture (4) to the school to repair furnitures

I shot the tiger but was missed.
(1) at the tiger but was missed (2) at the tiger but missed

3) - at the tiger but it missed (4) the tiger but it was missed

The ship was drowned.
(1) sank (2) drowned

(3) had drowned (4) had sunk

He came putting on a smart turbon.

(1) and put on a smart turban
(2) wearing a smart turban
(3) and wore a smart turban

(4) with a smart turban put on his head

(28)
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